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R i iag PART - | / 9T - I
CHILD DEVELOPMENT AND PEDAGOGY | a1 R 9 famemsy
Direction AR

i . | i t appropriate Options
stwer the following uestions (Q. Nos. 1 to 30) by selecting the correct/mos :
o F=rfeifas 7ot (v wer 1 H 30) % I & % forw WE/WAR I A AT

1. Dyslexia is 5 L — condition which impacts learner’s ability to
(1) Physiological, socialize with peers
(2) Sensory, coordinate body movements
(3)  emotional, draw pictures
(4)

heurological, link sounds with symbols

IS S et fearfy & i1 femed =1
(1) i, e % BTy

() W, i i 3 woeg

B) T, fay

(4) P =R, *Hﬁﬁaﬁnﬁﬁﬁ%f#mﬁﬁ@
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2. Assertion (A) :

Learning from real-life problems and concrete experiences gives the children multiple pathways
for learning and retrieving information.
Reason (R) :

Development is relatively orderly and sequential.
Choose the correct option :

(1) (A) is true but (R) is false,
(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and

SRITUT (R) :

wEr faswey =4 |

S (A) W © @l (R) Tom 2 R

(2)  (A) 3R (R) i o 7 |
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3.  Asking Critical questions such as “how uch and in what ways are various gender J'EPrf"'

textbooks and media” would encourage * 2430 S
(2)- Discouraging gender role flexibility

(1) Reinforcing gender identity
stancy

@_]' Strengthening gender con

(3) Questioning gender stereotypes
far i foe s @ foRar ST 4

7o & fepget dreared fiaem ?
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4.  Assertion (A) :
pedagngical strategies a5

In an inclusive classroom, adaptations should be made in learning goals,

well as assessment.

Reason (R) :
ilosophy of inclusion advocates elisnination of all individual differences through pedagogical

The ph

approaches and assessment. ek 5
Choose the correct option : —=

(1) (A)1is true but (R) is false. i‘:ﬁ"ﬁ

(2) Both (A) and (R) are false. g?ﬁ e

(R) are true and (R) is-the correct explanation of (A).

(3) Both (A) and
ﬁﬁ the correct explanation of (A).

Both (A) and (R) are true but (R)

(4)
qmmasﬁwﬁ,:ﬂaﬁ'ﬁa&ﬁ.ﬁﬁ#ﬁﬁﬁﬁiﬁ_m-ﬁmﬁwmmm.
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5. A teacher notices that one of her students is highly distracﬁb[e‘and has tro_uble lp&?yl:ﬁ E.'ttte n;-:::::
during elass. Which of the following-strategies would is an effective strategy in helping the stude
stay focused ? =

(1) Giving a timer to student foé—_gfé‘]_,f—regulation and time-management.
(2) Calling the parents and tak:ﬁg_jsmct disciplinary action against the student.
(3) Giving the student repeated E"’i';s to do during class.
(4) Strictly telling the student toghﬁ:rease their attention span.
s farfeern 3 e forn o e wam stefurss forafer & oik 98 e & SR e 39 & we A
¥ Frefafea § | 2 = wrifs 593 ke w0 5o $9 o v g o g ?
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6.  Assertion (A) : @)
Teachers should constantly reflecton their own stereotypes and bias.
Reason (R) : i iﬂ_:}
Culturally responsive teaching meaiis that teachers are reflective.
Choose the correct option : =

(1)  (A) is true but (R) is false. ™= <
(2) Both (A) and (R) are false, -
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but {R) is not the correct explanation of (A).
afisRem (A) : '
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7. Which of the following process is essential in mean: . : , :
environment and store it further m_}lEm{)ry 2 meaning-making of the information received from

() Forgetting () Retrievat (3

. Attention (4) Deca
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8. {: ‘:vi"uch stage of Kohlberg's moral dev eigpment do children’s reasoning revolve
(1) Heteronomous morality (1)— Autonomous morality
(3) Pre-conventional morality [_.i.‘_) Conventional morality
W%#ﬁﬁmﬁmmqﬁaﬁﬁwwﬁﬁma?ﬁ fird oo @ 7
(1) faum Afqwa (2} @ HfdE
ﬁ) v - A ( ] ' arife At

9.  Which of the following is a core principle of constructivist learning theory ?

(1) Students construct their own knowledge through active engagement with their environment

(2) Learning is primarily a passive pmcess that involves receiving and memorizing information.

(3) Teachers should provide direct msﬁucnon and explicit guidance to students.

(4) Learning occurs when students rece;ve correct answers and feedback from teachers.
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(1)
(2)
(3

I

10. According to Vygotsky,
the student to learn compjﬂely independently.

(2) To give only those tasks that the sgagl_qnt can currently do independently.

information and knowledge to the student.
(4) To guide and support the student’ Q:gmmg through scaffolding.

el & AT, Wﬁﬁmaﬁqfﬁﬁﬁﬁmaﬂwmﬁm%?
{aaﬁﬂﬁaﬁmﬁ?ﬁwﬁﬁﬁqﬁﬁm

}), o7 #
) ﬁﬁﬁmﬁﬁmﬁﬁﬂ%wﬁmﬁmmm

)
(4)

porr A mnn

what is the role of the teacher in facilitating cognitive development ?

(1) To allow

(3) To provide
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11. Which of the following does not exemplify an inclusive classroom ?

(1)  Offering differentiated instruction

(2) Encouraging competitive ethos

(3) Incorporation of diverse perspéctives
(4) Following reasonable accommedation

ﬁnﬁ’@aﬁﬁﬁ?wmﬁmmmﬂif%?
(1) faufea féw & w1
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(3) fafaw ol w1 gaEw el
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12. i:‘m elementary school teacher can strongly influence stu dents’ development of academic self-concept
}" .
(1) Rewarding autonomy and initiative in students
(2) Keeping very low expectations from special students
(3) Keeping very low expectahons%fmm all students
(4) Punishing autonomy and mmature in students

s Wi faemer o1 e BT ¥ Nefin Se-w9ed & fawr H1 gadn A g T qhd €
) BT 3 T 3 Ve ] A
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13. According to Lev-Vygotsky children benefit from the experience of interacting with
while working ____ their zone of proximal development.

(1) the physical environment; ‘within
(2) the physical environment; just outside

(3) more knowledgeable others; {‘ﬁ?:un
(4) more knowledgeable others; just outside
Fa-AT oG] o ST o %;W%*W%ﬁwﬁﬁﬂﬁﬁmﬁﬁiﬁmﬂﬁﬁqﬁ
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14. Assertion (A) :
There is no objectively definable moment when a child enters middle chil
Reason (R) :
Development is continuous in nature.

dhood or adolescence.

Choose the correct option.
(1)  (A) is true but (R) is false.
(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
f=waT (A) :
ﬂ%ﬁﬁmwﬁmqﬁmwﬁmmﬂwwmmﬁmm%l
&IT (R) :
fererre, wafa ® Fas € Tt 2|
wE fasea 91 |
(1) (A) @& 2 Al (R) To@ €
(2) (A) 3 (R) B TET E

3 (A)W{R]ﬁﬂﬁ%ﬁ(ﬁ]ﬁ{mﬂﬁmm%l
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15. In a progressive classroom assessment is
(1) Summative (2) Normative

(3) Dynamic (4) Objective

U wiifaier e | e

(1) AT EaE | (2) T ELA A €
(3)  TIfeeiier Sl € | A4 TS T

16. In order to address the individual differences among learners, a teacher should :
(1) consider differences as obvious feature of human diversity
(2) implement a rigid and uniform curriculum for all learners
(3) acknowledge differences as abnormal and kind of deficit
(4) be indifferent towards individual differences
it 5 e T el 1 AT A 3 fore e e

(1) Faeai] ) T AT 1 s fore % w9 H A S
2) avft ferafefal 3 ferg e ST R AT WA T N el
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17.  Alok shows the following behaviours : Holds head in an awkward position when reading; squinting
and rubbing the eye frequently; redness/swelling of eyes; confusing letters. These can be symptoms
of potential : )
(1) Autistic spectrum disorder (2) Communication disorder
(3) Visual problems (4) Language comprehension problems
mﬁmﬁﬁmawﬁm%;mwmﬁmﬂaﬁuﬁﬁm; A H TR-TN YAl 3R
TTE; St i e/, ster weam o ufi 86 | 98 e Tk & B WA § 7
(1) et o (2) HER "aHf fawn
A3)  =fE e e (4) T R TR H g

18.

Which of the following describes a mastery goal orientation ?
(1)  focus on achieving a high grade for receiving external rewards.
(2) focus on avoiding failure or punishment for fear of humiliation.

(3) focus on achieving a certain level of performance for competing with others.
(4) focus on improving ones’ skills and understanding of a task.

71 o & =1 W U e we sfufae w1 avi i 2

1) SR TERR 9 e o T 3 9 W e 9 e 2

(2) SIYHM % ST H AHFEAT T o0 Y g W A &1

(3) TEU % w1y wfqeet A % fon we fAfve w6 & wee F om W EE 2=
(4) ToE FH & QT e AR FHF B GERA T 3

19. According to Jean Piaget the ability to use symbols for symbols such as letting the letter X stand for
an unknown numeral develops during and enables the children to learn

(1) formal operational stage; algebra and calculus
(2) formal operational stage; conservation and seriation
(3) concrete operational stage; algebra and calculus

(4) concrete operational stage; conservation and seriation

17 firarst & sraan fa= o fog foel @1 9o e 1 e S T 31eR X 1 St of % fam o+
Al ¥ 2 fersmfaa et & it feamnfei = HrE H == ¥

(1) S AR SEe; s S T

(2) st AT ST, HOV S FEEE
gy e s, s st T

(4) T wfsrae S T S A
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20. Assertion (A) : :
Students are more likely to do well and stay in school if they have emotional attachment to their
school and believe that they matter. : '

Reason (R) :
Emotions play a significant role in learning,
Choose the correct option :
(1) (A) is true but (R) is false.
(2)  Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
HWHTT (A) :
BT ¥ ST WY O IR T H 3 A S Al G ¢ At S 79 THel 4 EAEE e €
A A 9§ T ST 8 5Ed wE
0T (R) :
TG EiE H Heeel e €1
e fased 91 |
(1) (A) 5é & & (R) Tom B
A7) (A) 3R (R) EF e 2
(3) (A) 3R (R) 3T W ¥ 3T (A) F (R) T A F €
4) (A) ¥R (R) S §& € Al (A) F(R) Fer A T F |

21. Which of the following best describes the role of the teacher in progressive education ?
(1) The teacher is responsible for ensuring strict adherence to curriculum standards.
(2) The teacher lets the children learn independently and does not interfere in their learning.
(3) The teacher is the primary source of knowledge and authority in the classroom.
(4) The teacher provides diverse materials for children to experiment and provides scaffolding

as and when required.
Fretfefiad # § 25 e e 3§ foees S qiEew F Jod 301 wi FT €2
(1) Foerer TR AEE &1 e § U HiE H & A fHER €
() o Al &1 T wY | dEd fa oK 3w J eay TE e €
(3)  foreqer o 8 9 i SR i A W €
@/ﬁmmﬁ’faﬁwnmﬁ%ﬁﬂﬁﬁﬂmmmtsﬁmﬁmq@mmmm

T

22. Which of the following characterise the process of socialization ?

(a) Itis a linear process. (b)  Itis a complex process.
(c) Itisa multidimensional process. (d) It takes place uniquely in different cultures.

(1) (b). (©) (d) ) (a) (®) (0 (@) (3) () (D) 4) ([®) ©

B e T AT 1 Wi i ferdand € 2
/?a) 7% U T i € | (b) @E U wifee whw
(c) 78w ageE ufEam g (d) oe fafvm wepfa § fafe w9 3 @ &)
1) (b), (), (d) (2) (a). (b), (). (d) (3) (a) (b) (4)  (b). (c)
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Which of the following statements about adolescence is not correct ? pe

(1) Adolescenceis developmental transition between childhood and adulthood entailing physica,
cognitive and psychosocial changes. ; -

(2)  Children across different cultures usher in and experience adolescence in a similar manner,

(3)  Adolescence is a social construction,

(4)  Adolescence is generally considered to begin with puberty - the process that leads to sexual
maturity and the ability to reproduce.

ﬁ?ﬁ?ﬁ@%ﬁﬁﬁﬁﬁﬁfﬁaﬁﬂaﬁammmﬁ%?

(1) EreirTereen s i renen 3 s fasmarers wimao & forad i, S i Tt
TitEd & §)

(2) T Sl % o=t v wom wis @ frvioeen 8§ vy 5% § ol 8 e 50 51

(3)  Tow¥iRTerRaT U wfs o

(4)  TorviTTereen =it smeie v e 1 vy et 3 o o S & - 7w e Gt W & S A R
IR TTeeIE # w2 3 S W 3

Work in p_l.'ogress_, Portfolios are an effective tool for formative assessment because :
(a)  They involve students in the process of assessment. |
(b)  They offer insights about the prog ividual students.
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26. Sujata participates eagerly in the dance competition only because she is interested in winning the
first prize of cash. Sujata is :

(1) Mastery-Oriented learner (2) Failure-avoiding learner
(3) Intrinsically motivated (4) Extrinsically motivated
: Wﬁmﬁmma@m% mﬁiﬂimﬁwmmymwaﬂﬁﬁﬁmﬁ
| Harn
(1) vewa IH@ freneffE 2)
(3) wiafE ®9 9 WA € (4)

27.  Which of the following is an example of a quesﬁunﬂ‘lé?qum students to analyze information ?
(1) How does the author use symbolism in “To Kill'a*Mockingbird™?
(2) Whois the protagonist of “To Killa Mockingbird"?
{3} What is the plot of the novel “To Kill a Mocki
(4) Whatmﬂwﬂum,eﬂf lhemv}'.l “To.

¥?
(1)
(2)
&)

\ 1ﬁ4""—, ¥ .=
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30.

berg’s theory of moral devel, .
e u'iti‘-‘tueﬂfgnhl & P%tlﬂ
The centyq] argument of Carol Gilligan's
around -

(1)  Use of experimental design in smd}dnfgar | going children.
(2) Educational implications of the study : 350

(3)  Ethics of care and the feminist PEIEP.".‘fuvr"‘n-

) Overestimation of childrens moral abilitieg™)

IR 35 i e 3 g 2 v e LB 1 A T
()83 st e s o S

@) T S w35 o sy 5 e e

(3) %uwmﬁmmmmﬂwwm 0

(4) wﬁaﬁﬁmmﬁmm;u

Tnis v oot _ Bitha tectites shodld s e and as the chi o
m_l??B_?]?Plﬁ"ﬂ-Chﬂd'is todoa task. S i ould giv

Choose the correct option.
() (A) is true but (R)is false.
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IMPORTANT / W&vaqof
Candidates have to do questions 31 to 90 EITHER from Part - Il (Mathematics and Science) OR from
Part - III (Social Studies / Social Science).
qﬁ&mEﬁ?WSI @90 AT Gt T - 11 ( Tfore R )W 9T - 111 ( @A A/ A
fazrT ) @ F7 &1 '
PART - Il / 99 .- I}
MATHEMATICS AND SCIENCE / 7fora 9 farsm=

Direction : Answer the following questions by selecting the cofrect/most appropriate options.

T : fAefeiaad B9 # ST 37 & fo wehaed 3T faweT g

31. Three numbers are in the ratio 2 : 3 : 4 and the sum of_::*_t'lié'ir cubes is'33957. What is the sum of the

three numbers ? &

(1) 72 (2) 81 (3) 54 (4) 63
o FEAd 2: 3 : 4 % 9 H € i oA A w1 9 33957 ® | 59 A Hemsi @ A = 2

@y 72 2) 81 (3) @) 63

tuu:F |!iT:iEI
Tyl

ku:"u i
9.

32. Three consecutive integers are such that when they fafe taken in increasing order and multiplied
by 3, 5 and 2, respectively, they add up to 99. Whatis the sum of the original first and third

i : ?
integers ¢ =
1) 20 @ 241 @) 118 @) 18

4 ST U 36 W E foh o 3 aed gY W H ol Sl € SR HA: 3, 57U 2 H 0 FE S
ST &, A AR 99 U Bl # | ST Teel U L qoishi 1 A o ¥ ?

(1) 20 (2) 24 (8) 16 (4) 18
SPACE FOR ROUGH WORK / T #rd & feru e
LC)
Q)
L)
£
" F

0

LTI 1 0
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33. A student listed the following properties of Rational Numbers, Which one/ones is/are Correct 7
(@) A rational number includes integers,
® o (zero) is not a rational number,
(€)  All fractions are rational numbers,

GT‘JDSEH'\em option : m

(1) Only (c)m ph(;? @and &) @ @and(©  (4) Only (b
WM%WM%WM@-WL T A BT T B
(a) Wﬁﬁﬂwﬁmﬁmﬂﬁq@am 00

®) = (0) oo e E ‘R

(©) Wﬁﬁ‘iﬁﬂﬁmﬂ?ﬂﬁl R

1) Fw (o) @ @KL @ @O @ e

1Y () 0.0385
qH SR 1 R 110 om 31 e #

AFT (m3 ) & («:r= 2
(1) 00285 ) goagaf T - (&) 0.0385
- ok TR e T, T

'S i SN oF




36. Concept was labelled as ‘Schema’ by :

(1) Bruner (2) VanHieles  (3) Vygotsky (4)' Haget
O STEYR ) wmn & wy o A o e an
(1) X 2 ¥ (3) i (4) forst
g x_ (=1 gyt [5 3_)'1

7. HX, (3] [) , then what is the value of -+ %] 7

38 ' ' 3 by
18 TP PRI i R R S

&%




40.

41.

If x=1.011+10.11 12101 + 01011, then what should be added to x to get the sum as 1.17

(1) 02211 @ 11311 (3) 1.9789 (4) 03111
A x=1.011+1011-12:101 + 01011 #, @ « & o gt g, Forey drmen 1.1 97 7
(1) 0.2211 2 11311 (3) 1.9789 (4) 03111

5:3? digit number 94 7 1 x 9 y 2 is divisible by 72, then which of the following statements is not
e

(1) x=9andy=5 (2) x=3andy=1 (3) x=8andy=5 (4 x=4andy=9
At 8 — it HE@M 9471 x9y2, 72 A fawrs &, A et & & i e e 76 & 7
1) x=93y=5 (@) x=33ky=1 (3) 'x=5'3l‘r_{_.'y=_5 (4) x=4 3 y=9




44,

450

46.

811585783

fl m{dcile school mathematics teacher poses the following question to her class.
Which type of graph would you use to show the fol lowing data ?
(a) The heights of participants in an athletics meet
(b) The number of passengers boarding trains from 9:00 am to 9:00 pm at a station.”
The intention of the teacher is to -
(1) Teach line graph through contextual situations.
(2) Teach the use of histograms for data representation.
(3) Help learners understand the difference between bar graph and line graph.
(4) Introduce the concept of pie charts.

forsw wpet 1 v it T ffa st Fen & wre Frefafad g w2

" frfafen sifenel 1 gui & forg sy frm R & AR &1 S9Em 1 2

(a) fordht Bere whwhfi & wfiahri % 9

(b) et ©E T WE: 9:00 99 U W 9:00 9 T Teniedl B W A At w5 we )
a{eAITER o1 ST ¥ -

(1) TE-3meE F Hewiers aRiterial gam R S5

(2) siRdl ¥ frew ¥ foe smaatas & I 1 fw w5 |

(3) TUe-HeRE T TS % =i o A% I GHF | e S wwEa S|
(4) UE-TE HT AR FH IRTT |

In triangles ABC and DEF; £B=90°, BC=8 cm, £A =40°, DE=8 cm, £ZF=40° and ZE=90°. Then,
which of the following statements is true ?

(1) AABC = ADFE, by AAS (2)  AABC = AFED, by AAS

(3) AABC = ADEF, by RHS (4) AABC = AFED, by RHS

f13[if ABC @R DEE #; ZB=90°, BC=8 cm, ZA=40°, DE=8 cm, ZF=4(° AR LE=90° % @&, =1
FuAl § | HHE-H FY T €7

(1) AABC = ADFE, AAS g/ (2) AABC = AFED, AAS &

(3)  AABC = ADEF, RHS 5/ (4) AABC =AFED, RHS 51

The lengths of the pzii'a]lel.-sides_bf"'a' tralj:}emumare 11 cm and 25 cm and the distance between
them is 12 cm. Its area is equal to the area of a rectangle whose sides are in the ratio 3: 2. What is
the perimeter (in cm) of the rectangle 7 y |-

1) 60 2) 70 (3) 40 ) 50

farelt T Wt T HHIA 45 11 om SR 25 em & SR 3% A9 H G 12 em ¥ FH] EHA W
e 3 Sl 3 avet & ot Yo 3 ¢ 2 8 iU H ¥ | 36 ST 1 9 (cm H) T2

(1) 60 (2) 70 (3) 40 4) 50

SPACE FOR ROUGH WORK / % T4 @ feTq s

T A7 O
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47. A class VI mathematics teacher posed the following problem to her stude

" - 70 cm, 85 cm and 95 cm
In a morning walk, three persons started together. Their steps measure

cover the sa
respectively. What is the minimum distance each should walk so that all can me
distance in complete steps ?” ' .
Which of the Eolli'nwin_g concepts would be required to solve the given problem ?
1) t of division

(2) Concept of proportion

(3) Concept of HCF

(4) Concept of LCM . .

FH VI H 0 i Ft e s e & ue frefates s @

‘o i A R T W e W w1 3T wanl # e w70 ﬁ,:i’t_:
85 #.41. & 95 At ¥ mﬁﬁmwm@aﬂﬁaa@@@;@ﬁﬁﬁmmﬁ?

Frrferfia & -t srasmomd Ty T we 1 5@ we F T snee e ?
(1) TEureE F1 s

() W
(3) TR WA (W) & S
(4) T GRS (FH.) SR

scommends that Sports Integrated Pedagogy needs to be
1g thetollowing are correct in the context of using sports

O e {‘:‘ _'r:li-_ .




49.

50.

i i

IO T =

The difference between two supplementary angles is 20°. If the smaller of these angles is p, then
the value of 3p—50° is :

(1) 250° (2) 190° (3) 310° (4) 270°
<1 HYTH IV T Hew 20° ¥ ﬁﬁﬁﬂwp €, @ 3p—50° H A ¥ :
(1) 250° (2) 190° 5e(3) i310¢ (4) 270°

Teacher conducted an oral assessment irrefass and found that Ram can speak definition of all
types of numbers - odd, even, prime and cénifiosite accurately, but not able to identify the numbers

accurately when given a set of numbers.
Which of the following is most appropn@ the above situation ?
(1) Ram has good memory but lacks ¢ tual understanding,.
(2) Ram has analytical ability

(3) Ram has good memory but lacks p
(4) Ram has good memory but lacks concmtrahan

ﬁw%mﬁmmmmﬁmm&uﬁwmﬁmﬁw W, 39T AR 9T FE6
uﬁmﬁmﬁaﬁwﬁmﬂnﬁwwm% G e e w1 9=y fom o wm =
HEnEl F g8 W TeAH A

mwﬁﬁmﬁ#mﬁqﬁl‘mﬁﬁﬂmmaﬁ%ﬂﬁ? ‘
(1) T = T vfE A= & W I e = R
(2) T H foerme e R
(3)
(4)

gm the correct ¢
(1) (a)and () -

(b) mwﬁmmwﬁpﬁﬁﬁmm P (5
608 3(c) ﬁmﬂﬁﬁﬂdwﬁwwmﬁimmwmﬂfmmmh
| .-:ﬁwqmm—-rﬂﬂﬁ'z WS e ear w ep T e

@ im(bh wOO(a) (a)shfmrr @ O E
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53.

) hen x=5.6 7
x varies inversely as y. When x=3.5, then y=24. What is the value( c;f y :"5
4 :

1 21 (2) 2.8 (3) 14 o
X, y % T SRR fore r=358 my=24 ¥ FA2=50 1’5
(1) 21 @ 28 ) (3) 14 (&) 8%
L) .
The following table shows the nurfibset of different fruits
?

Typeof Sl ~. | Pome
(I 0% | Mangoes | Apples (Oranges | GuAYas | -, tes

yﬂﬂﬁﬂﬁ"‘l‘[?

kepti_nacartoﬂ:

Number| 44 | 56 42 30 38

If a pie chart s ToonE cted for it Gbove data, whfat wm befhe angle of the sector representing

= Ieﬁu?- = - g BFIREOD B
app gy 720

@ 9° () 100.8°




55. 'Ihepmductoftworahunalnumhemm—-a— Ifoneof&wtwonumbersm—-— mentl-uerec:pmcal
of the other number lies between : '

! 1 1 - 3 9 Rl Ml |
and g @ gady @) pa@dsg @ 55

@ 4 5 i

| =

Cimebujaari o DAOgas arl ol st rEr P H‘JT HEL "-"--'".'-"' gl _,_.{iﬂ--'." o

& i st T it 3 8 T b calughs

et 0 ¢ a2 v

. T R _. [ e . Lj)[ﬁh‘]m B ij.ln‘ tf;l ¥ ‘t:'r"' ' L':
Elk-8ich 8 b) Taylor's abuds :
Linafaislign.ad alin, mq.m ﬂﬂnfthaumemq v *’]mrm? :rh thip» b oF 9ids 2

Int-}. [:h H{ U! l"l i’jlj'r:rs ]_ jfuf! s] |” lé;i__"' s {
L9 ) ,.,3' : ﬁ?}gﬂprﬂ i(‘ ."Efj* .-Hg j 1'.1::_5
=5 ”TF}T{ !ﬁﬂl’

1Il‘.J and

-1.\

ﬁ‘iﬁﬁlﬂ. TEJ"T-H & e #0 o

FPTIR

10 ISandL

[H:.n-‘n"-_



~ 57. A student was given the following problem on percentage to solve,
“Find the percentage of decrease if the population of a city decreased from 28,000 to 26,500."
She wrote the following solution,
Original population = 28,000; New population = 26,500

26500
= — =100
% decrease 28,000 % =946%

Which of the fD].lGWlﬂg is most appropnate with respect to the response of the student ?
(2) Student has made a careless mistake.

(3) Student is able to understand the concept of percentage but is not able to understand
percentage of which quantity is to be found.

(4) Student has solved the question correctly but has. used wrong symbols in solution.
wﬁmﬁﬂuﬁmmﬁﬁﬂ?ﬁmwsﬁ aﬁ%ﬁ -

b o LA

ﬂ}w‘i 1(:'{} ﬂﬁ:mﬁ‘i sl
D] las e ¢




58.

59.

60.

A box opened at the top is made of wood of thickness 3 cm. Its external length, breadth and height

are respectively 1.48 m, 1.16 m and 83 cm (base =length X breadth). What will be the cost of
painting its inner surface at ¥ 150 per m?2 ?

(1) ¥ 841.40 (2) T 84250 (3) ¥ 838.20 (4) T 839.10

TR H G TN TH 991 3 cm WA FHS F AN B mﬁm@a‘aﬁ,ﬁ}@éam%ﬁlﬁﬂ=
148 m, 1.16 m 3R 83 cm ¥ (SM4R =wfard x Hrerd) | 39 #Aiafa Gagl . T 150 W m? &1 & § 92
T FT AT B 2

(1) T 84140 (2) T 842,50 (3) ¥ 838.20 (4) ¥ 839.10

Which among the following Learning-Teaching Resources (LTRs) are most appropriate for visually
challenged students in mathematics classroom ?

(a) Geogebra (b) Taylor's abacus () Computer (d) Spreadsheet
Choose the correct option :

(1) (b)and (c) (2) (b),(c)and (d) (3) (a)and (b) (4) (c) and (d)

i 7 e A 2feenfua famflEi ¥ fo frafafas st e g (ve 3 om) 8 § 59 9 w41
T4 2

(a) ToEsEw (b) 2ER = feam (c) A (d) Srswe
“ﬁﬁlﬁq?

(1) (b) (o) @) M) (3R (@) (a)RED) @) (c) AT (d)

Which of the following is not a dimension of assessment of mathematics learning ?
(1) Disposition towards mathematics

(2) Mathematical reasoning

(3) Communication T

(4) Patterns and procedures skl . Emek 3
Frefafea 3 § sE-w afta ftrm & e 1 s @ €2

(1) o % wid w1

(2) TIREE T

(3) FEEI

(4) wfoam (Yed) i) wiwan (Fr-fafer)

SPACE FOR ROUGH WORK / 1% &4 & foe s

P11 (0N 23 O




Direction : Answer the following questions
Fyr:  Frefotas 993 & ST

61. Which of the following is NOT indicative of
(1) Using the senses to gather information
(2) Identifying variables for an experiment

(3) Formulating questions which lead to inquiry

(4) Attempting to explain observations or relationships in terms of some principle
Prerferfias & Q W W1 TR F F HE P ﬁaw'-rﬁ t?

1 meﬁ#f‘mmﬁﬁ ﬁlmﬂ'ﬂ?ﬁl

(2) ﬁﬁa‘im#ﬁlﬁﬁiﬂqﬁﬁm : i
By dime ol A(f W1E Y i )

the l'lyjt'f’ﬂ""-“i”iﬂg skill ?

SR (3) mprHES o () b3
62. Idenufy the correct statement(s) : g 3%
(a): Afactis mobngrvahmﬂmﬂ:m - d to be true over the time.
(b): A law is a theory that has re : true over the time.
(1) Ol'IIY{b) el sub st 10 ir 4.[B e qmw“ﬂr Ll H
. : Bm‘zbtram r;om:. % d




64. A teacher, while teaching the chapter ‘Bedy- Movements’ to class VI students shows the following
images to her students :

A sailing boat, swimming fish and a flying aeroplane. She then asks the students to reflect on the
shape of the images and the manner of movement. Which of the following are likely to be employed
by students in answering ? 4

(a) Classifying (b)  Observing __' () Inductive reasoning (d) Measuring

(1)  (c) and (d) (2) (a) and (d)=— (3) (a)and (b) (4) (b) and (c)

U fuferet 99 SEn VI & faenfefdi slewn § 1’ o8 wen wwa frefatea fatae feed
g 8

F WHR I wfdfafiad F & fou Fad 81 0 27 % foru ot gro e 8 9 ffr dwifaa 9 9
Tranfora famen smom 2

(a) ST (b) AR (c) SITHATHS wehiaa  (d) HYH

M- (9 3 () (2) (a) 3 (d) (3) (a) 3R (b) (4) () (o)

65. Match the substances in column A Wtﬂ'ﬁ_ﬁ;l_gu chemical names in column B.

(4) B) iy
(a) Slaked lime (i) Calcium oxjde-
(b) Table salt (i) Sodium bicarbonate
(c) Limestone (iii) Calcium ca:ioﬁate
(d) Caustic soda (iv) Calcium hydroxide
() Quicklime  (v) Sodium hydroxide o

() Baking soda  (vi) Sodium chloride

(1)  (@)-(i), (b)-(vi), (c)-(iii), (d)-(v), (e)-(ii), (£)-(iv)

(2)  (@-v), (b)-(v), (©)-(iii), (d)-(11), (e)-(i), (E)-(vi)

(3)  (a)-(iv), (b)-(vi), (¢)-(iii), (d)-(v), (e)-(i), (F)-(ii)

4)  (@)-(vi), B)-(ii), ()=(v), (d)-(). (e)-(iid), (-(v)
wietH A H feu mu gerdf <1 whiet® B # 3T T 37 THMEt A4 & Y GAE hia ;

(A) ® ™

() T (i) Ffewm sEEs

(b) FE TE (i) ~HIfeTA AL

() ¥ T (ili)  FfewaH )

(d) s drer  (iv) Hicaad

) frmman  (v) wfea aesiEe

(f) A e (am) (vi)  HifET
S (@), (b)-(vi), (c)-(ii), (d)-(v), (e)-(, T)-(iv)

(2)  (@)-(iv), (b)-(v), (c)-(iii), (d)-(ii), (e)-(i), ()-(vi)

(3)  (a)-(iv), (b)-(vi), (c)-(iii), (d)-(v), (e)-(i), (F)-(ii)

(4)  (a)-(vi), (b)-(ii), (c)-(v), (d)-(i), (e)-(iii), (F)-(iv)

P-10 [N 25 0




66.

Read the following text :
When a negatively charged rod is brought near an uncharged electroscope,
(a)  the electroscope leaves move further apart
(b) both the electmscdpe leaves acquige similar charge
()  the negative charges pass on ;q@electmmpe causing its leaves to move further apart
Of the above three statements :
: has
(1) (a), (b) and (c) are observations
(2) (a), (b) and (c) are inferences n
(3) (a) is an observation while (b) c) are inferences
(4) (a) and (b) are observations an an mference
frferfas o = e :

mmwﬁmﬁﬁawm%) ﬂ%&ﬁmﬁgﬂcﬁ%ﬁmmw%
(a) ﬁwfﬁlﬂwg&%aﬂ'{{{w@ﬂ
(b) ﬁﬁﬁﬂﬁﬂﬁwﬁlﬁmﬁmﬁmwﬁﬁﬁrﬁ

(© aﬁaﬁﬂﬂﬁaﬁﬁﬁmmﬁaﬁmw%mmwﬁmﬁ—wﬁ#ﬂ
??ﬁﬁwﬁ%

@ e -tbr-ak--@ e

3 revsmln 2
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68. A box of mass 500 gm is lying on a horizontal table. Which of the following statements 1S tru
regarding the force(s) acting on it ? [g=10 m/s”]

(1) A pair of balanced forces acts on it

(2) An unbalanced force of 5 N acts on it in the upward direction
(3) No force acts on it

(4) An unbalanced force of 5 N acts on it in downward direction

At (erye) 39 (Tam) WS gU UF fea (aiEw) F gegmE (Fefd) 500 U ¥ IH W e Al
a7/ =l & Ga4 § FEfafad § § S 9 %99 896 €2 [g=10 m/s?]

(1) wafem @i &1 UH g7 () 3 W HE Ha €
(2) it fawn § 39 W5 N &1 Sqfad oo F1E i ¢
(3) FH W I 96 HE T B €

@ ST o 4 39 W5 N 1 sTHgfe o9 % Ha €

69.  Which of the following best explains the statement ‘science promotes scepticism’ ?
(1) Scientists do not trust the findings of other scientists
(2) Scientists are open-minded and willing to modify their ideas
(3)  Scientists judge the validity of a claim based on objective empirical evidence
(4) Science is purely inductive in nature

s § & %19 4% &9 9 ‘ faum Seeae &) 9ee a1 8 F99 H e S § 2
(1) S T8 () S % Sra-uiomE 1w ey 16 5 8

)2) I I TR et 2 € e St foreri ) Swiatt e th v e 8
(3) Towafre syafas medi % anar W At <F #t dum 5 siwy §
(4) Tagm y=fa & 9 ®9 9 ST

70. X and Y are thick, black liquids which can be used for metalling the roads. X is derived from
petroleum and Y is derived from coal. Which of the following can X and Y respectively

be ?
(1) Charcoal, Bitumen (2) Coal Tar, Bitumen
(3) Bitumen, Coal Tar /Pﬂ/CDa] Tar, Charcoal

xaﬂwmﬁﬁlﬁﬁﬁﬁwmma@ﬁﬂﬁwmﬁ;mmmm%l X WEiferam | g aar
Ymﬁﬁﬂmélmﬁmﬁﬁmmm:xaﬁvﬁm%? B

(1) FHE (BrE-Fen), fagid  (2)  wer, fgi
(3) fazam, remn (4) ISR, AR (FHS-He)

ST 27 Ok

- - _
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_ of gravitation bejy,
Which of the following is the most suitable reason behind Newtons et i
regarded as an excellent theory 7

71.

(1) Tt has been formulated using the precise language of mathematics

(2) It has been developed over a long period of time

(3) Tt explains larger number of observations by making fewer assumptions
(4) It has been arrived at after thorough experimentation

Eﬁ%m#mﬁwmmm#%ﬁwﬁaﬁﬁﬁﬁWHﬁWWﬁw

(1) = wityg for T T ST o e e
(2) @ﬁmmﬂﬁmm ™

) mmwm mﬁma@.ﬁmﬁm-ﬁmmmt
) ¥ Tl M % v & ey ™E




73. Read the following statements carefully and select the correct option.
S1 : Rayon is a synthetic fibre.
S2 : Rayon is made without using any natural raw material.
(1) Sl is false and S2 is true (2) Both S1 and S2 are false

(3) Both S1 and S2 are true (4) Sl is true and S2 is false
FfafEa F9Ai #1 SHYEE o0 a1 et fasheq 1 994 R :

S1: M T i 77 ¥ |

52 iﬂﬁﬁﬁﬁn fﬂﬁwﬁmﬁwﬂmﬁm%mmﬁl

(1) mm%aﬁzszuﬁ% * 42 st 552 S e €

3) S1952 3 T E “ @ e & o 52 7w &




75. Consider the test item given below and match the following :

Column - A Column - B
Unit of force Joule
Symbol of iron HCl1
| Formula of hydrochloric acid Ag
| Unit of work T=ll—
| Symbol of silver Calaaa!
|H Which of the followmg is not a reason that ca:n be given to Jushfy that the item is poorly

| constructed ? T F b 1
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77.

78.

f&:l S | B P 5

Which of the following statements regarding rusting of iron are true ?
(a) It involves a chemical reaction between iron and oxygen.

(b) Tt is an exothermic reaction,
(€) It can take place at room temperature.
(d) = Itis reversible reaction,

1) @and@ 2 @@adE @ LO@ @ GandE
frferfian & @ 1 & wom die & win o 5 ey TEE 82

(a) EEIE (SR) R AT F sty Tt 1 iftred shian 2 |

(b) F& UF FEEt sfifim ¥ .

() & MM AT (FS-T19) R & g1 T m

(d) =% Soravig SAffean &
0 @MW @ @Ok @ ‘lﬁ? ®@ @ b

Identify the correct statements from the following :
(a) Generaﬂy non-metals do not react with water.

"'I(b)' Generally non-metals do not react ﬁﬁ. acids.

(1) Both (a) and (b) Nexther (a) nor (b)

- (3) Only (a) - S
ﬁmﬁ—rﬁaﬁﬁnﬁmﬂaﬁw 1 .

: 37T SIS % WY 3 i
(b) T m@mﬁfﬁf;m
(1) (a)ﬁ"f(blﬁﬁf

(3) *9 (a)
‘Which of _Ddﬁ?g the students to the concept of
e examples—u s

I—Iold a.dmcussion on chenucal re&chons which students are likely to have observed in their

hves
Expla.in the ccincept of valence electrons and electmrdc configuration

bolic form and ask students to observe

(1) Write the chemical equations in symbs
3 T mﬁwmﬁm ﬁmwr@rﬁﬁfﬁqﬁﬁﬂmﬁﬁmﬁnwaﬁﬁ

- ';"t'_ aﬁvﬁmﬁﬁmwm
fufa %qﬁﬁmﬁ?ﬂ?@ﬂiﬂ%ﬁﬁﬁmﬁﬁwﬁamﬁmﬁmm










88.

: : tly fill the bl
Read the following paragraph carefully and select the option which would correctly e blankg
in the given order.

Sound is produced by vibration and different musical instruments': h_ave specific vibraﬁn% parts, In
a_X__the sound is produced by stretched strings,ina Y it is the stretched membrane that

vibrates and in a W7 vibrating part that produces sound is the air column.
X, Y and Z can respectively be :

(1) guitar, tabla, shehnai (2) ektara, violin, piano

(3) sitar, harmonium, dholak (4) dholak, ektara, mouth organ

maﬁtﬁ Wﬁmmwﬁmﬂwﬁﬁq%ﬂﬁmﬁﬁﬂmmﬁﬁaﬂ
I




IMPORTANT / Wgvaqof

Candidates have to do questions 31 fo 90 EITHER from Part - II (Mathematics and Science) OR from

Part - III (Social Studies / Social Science).
gitenfefar T W 31 @90 A AT 6T - 11 (T q RIFATT) AT §FT - 11 ( @ SEEaT/ qws

famrT) @ &1 &1

PART - 11l / 9T - 1N
SOCIAL STUDIES / SOCIAL SCIENCE - WMIf® reqy+ / Arfod fasn=

Direction : Answer the following questions by selecting the correct/imost appropriate options.
39T : ferferfiad ol % S &7 & o0 Wel/ qawd Sugan f[a%eq giai
31. Read the Assertion (A) and Reason (R) carefully :

Assertion (A) :

It was during Shah Jahan's reign that the different elements of Mughal architecture were fused
together in a grand harmonious synthesis.

Reason (R) :
His reign witnessed a huge amount of construction activity especially in Agra and Delhi.

Choose the correct option of the following :
(1) (A)is true but (R) is false

(2) (A) is false but (R) is true

(3) Both (A) and (R) are true and (R) explains (A)

(4) Both (A) and (R) are true but (R) does not explain (A)

R (A) T HROT (R) FT 21 § Ta

AT (A) : H &
m&qw%ﬂ?ﬁwm%ﬁfﬂ?ﬁ@qﬂWWﬁﬁﬁﬁl
0T (R) :

% YA B 31aR i Fd ged @, e w9 9 s e fowed 1)
freaferfas & & W faswed 1 :

(1) (A)%& & fog (R) T |

(2) (A) T # & (R) GE
) ﬁ[,&)nﬂ’m}aﬁ?ﬁm{n},{ﬂlﬁwm?"%'

4) 2l (A) TE (R) TE ¥ T (R), (A) T = T A G

P-IL (NI 32 O




X ! : d by Holt Mackenzije.
€ Mahalwari Settlement for revenye collection was introduce by
Reasop (R) :

; village

e charge of collecting the reyenye and paying it to the company was given to the villag heady,
Tather than e Zaminday, | A e e e

Chogse_._.the correct option, of the follnwmg _ 38 A
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34. Torrid Zone on Earth receives maximum heat as :
(1) the mid-day sun is exactly overhead
(2) rays of the sun are sIanI:ing here
(3) itis land locked
(4) it is bounded by oceans .
TeA T 39 Hfeadd &4 gay wammﬂﬂﬁ%?ﬁfﬁ?
(1) <Sve 1 g4 3 i F s dm _—
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(2) e g =t fwt ot et & —
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35. Read the assertion (A) and reason (R) carefully :

Assertion (A) :
Dadabhai Naoroji, one of the great leader of Indian National Congress, never become the President

of INC. o
Reason (R) : h—:
He was a businessman and publicist settled in Londggi;-_;;nd for sometime a member of the British
Parliament. ol
Choose the correct option of the following : :';:L_T'.!
(1) (A) is true but (R) is false S
(2)  (A) is false but (R) is true i

(3) Both (A) and (R) are true and (R) explains (A)~—
(4)  Both (A) and (R) are true but (R) does not explain (A)

1fuao (A) 91 FIROT (R) F1 24H 9 98 :
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36. Railway network is now extensively being built in mountainous areas. Select the most suitaple
reason,

(1) Mountain people are making railways.

(2) There are advanced technological devel%mts to enable it.

(3) Itis easy to construct railways in mountaing.

(1) Mountains are highly eroded. .
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38.

39,

Read the assertion (A) and reason (R) carefully :
Assertion (A) :
Tribes have rich and unique cultural traditions including their own language and music etc.
Reason (R) :
Land, forests, grasslands and water are regarded as the wealth of the entire tribe and everybody
shares and uses these together.
Choose the correct option of the following :
(1)  (A) is true but (R) is false
(2)  (A) is false but (R) is true
(3) Both (A) and (R) are true and (R) explains (A)
(4) Both (A) and (R) are true but (R) does not explains (A)
AW (A) T T (R) 1 o9 & 72
ATUHYA (A) :
STl it i fadh- et fored s e Aen st i wfire & sge gy qun fafer 2 E
0T (R) :
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(4) 3Fi (A) T (R) & 2 g (R), (A) F e 78 F3T
Read the Assertion (A) and Reason (R) carefully :
Assertion (A) :
In 1960, the bilingual state of Bombay was divided into separate states for Marathi and Gujarati
speaking people. '
Reason (R) : ' ; _ i
In 1966, the state of Punjab was also divided into two States Punjab for Punjabi speakers and
Haryana for Haryanavi or Hindi speakers.
Choose the correct option of the following :
(1) (A) is true but (R) is false
(2) (A) is false but (R) is true
(3) Both (A) and (R) are true and (R) explains (A)
(4) Both (A) and (R) are true but (R) does not explain (A)
AFUHAT (A) 741 HIUT (R) 1 &H 4 T
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40.

3

Read the statements (A) and (B) carefully :

(A) : In 1770, a terrible famine killed ten million people in Bengal.
(B) : About one-third of the population was wiped out.

Choose the correct option of the following :

(1)  (A) is true but (B) is false (2) (A) s false but (B) is true
(3) Both (A) and (B) are true (4) Both (A) and '(nj are false
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43.

44.

45.

The atmosphere

is a thin layer of air surrounding the Earth. What keeps the air to remain around
the earth ?

(1) ~ Rocks and oceans on the earth (2) Gravitational force of moon
(3) Gravitational force of the Earth (4) Heat of the sun

gedt & 9w mﬁﬁﬁmgaﬁwmaﬁa@ﬁgaaﬁﬁl 1 =S A 1 Yt F 9w AR T =" i g 2
(1) 9% R FEH 3R TwmR (2) g 1 TR T
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Which of the follnwing statements help in sustainable development with reference to present day
resource availability ?

(@) Reducing consumption of resources
(b) Increasing resource use
(c) Recycling resources
(d) Reusing things
Choose the correct options :
M G.W @ @b.d @ @Ed @ @b
FrefafEd 5 9 $9-51 F2 9097 T99 F TEE sUced & 9o % iy gaqueviy fawm § geEa
FIAT18?
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Which one of the following is not true regarding Hindustan Socialist Republican Association (HSRA).

Choose the correct option :

(1) It was founded in 1928 at Amritsar in Punjab,

(2) Members of the HSRA assassinated Saunders, a police officer.
(3) Bhagat Singh and his comrades founded this organisation.
(4) It was founded in 1928 at Firozeshah Kotla in Delhi.
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46
The true representative model of our Farth is :
(1) Rugby ban
et

() Globe @)
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48.

. Read the statements (A) and (B) carefully :

50.

Winds b]':]“r dn.. LEa\-"E
J s down the paveme -
(1) Movement of condensed airp .

(2) Movement of Plants and animals

(3)  Movement of aj :
air from high pressure area to low pressure area.

,(:;2:' g;in;;t;;i;;:?a:;g?;mq:@% higl?':r ;:ressure areas.
(1) WA 9 = f) SN
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(A) : The Veda Samaj was established in Madras in 1864.

(B) : It was inspired by the Arya Samaj.

Choose the correct option :

(1) (A) is true but (B) is false (2)  (A) is false but (B) is true
(3) Both (A) and (B) are true (4)  Both (A) and (B) are false
Tl (A) 91 (B) 1 4H | TE o0

(A) : 32 TR F T 1864 F TR F g

(B) : A% WA, 3114 HHIS | Ui 41 =y

fafafes o 9 e fowed =94 n

AD  (A) T T g (B) TR m@w e & fir (6)

(3) =Fi (A) @ (B) T (4) .3 (A) T2 (B) T €

Choose the statements that explain the Ganga-Brahmaputra Basin in Indian subcontinent.

(a) Coniferous forests grow in this region.
(b) The Basin lies in sub-tropical region.

' .'.'f*”-'}.' The area is dominated by Monsoon climate.

(d) The basin area has a varied topography.

Ch 08 3
oose the correct option @), (@ @ ) (a) (b), (o) #4)  ®) () (d)
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(;) Ethaj:hon (2) Discovery of object
(3) Purification (4) UW usability
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52.  The Child Marriage Restraint Act was pmg@mwmmdmg to this Act, what was the respective

(1) 21 years and 18 years | @ 17y and 15 years

18 years and 16 years
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54. The book ‘Stripurushtulna’ was written by which one of the following reformer ?

(1)  Tarabai Shinde (2) E.V.Ramaswamy Naicker (Periyar)

(3) Pandita Ramabai (4) Veerasalingam Pantulu

RGN e e TR R it E s Gl -G T

(1) T fig (2), . T T ()
O o (e i

55. The earliest ewdenr:e of growing crops like wheat and barley are located in which one of the
=followmg plams ? Choose the correct ﬂphm

(1) Sulaiman and Kirthar hills _
~ (3) Garo hills ' (4) Malabar hills 35
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58. Lines drawn on.a globe are known as latitudes and longitudes. What purpose do these lineg
| serve ?

(1) To beauufy the globe

(@) They are furrows on earth and indmate physical features of the earth
()  To make designs on globe

(4) Tolocate placesonearth . . . O
Wmmﬁﬂﬁmﬁmmm%mﬁmmm 3@ e 3w w5
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0. The diseases that spread from one person to another through water, food, air etc. are called as :

(1)  Acquired diseases (2) Congenital diseases

(3) Genetic diseases (4) Communicable diseases

3 it it wh i R g st ) - e, e, a9 g @ e 8, 99
(1) St sieifear e (2) ST A e €

(3) SR Sl Fe # A4 R Sl FEd f

61. Which of the following is not a characteristic of continuous comprehensive evaluation ?
(1) Itincludes an assessment of scholastic as well as co-scholastic aspects of the students growth.
(2) It focuses on marks based evaluation of student’s work.
(3) It makes evaluation an integral part of the teaching-learning process.
(4) It focuses on all-round development of the child’s personality.

frefafad § 9 F9-w Foa iR =9 qedis w1 e T8 & 7

(1) ¥ fomndi & Wi faem & my Te-dfemr weqei #1 4 sneer F
(2) ¥ faenedi & siw s <M qeFa W HiEE 2

(3) TE HeAiwA 1 e sty wiwan & i S | g
g)/ﬂ%ﬁmeﬂa:mﬁaa#mﬁﬁmﬁa?mw%ﬁ{ﬂ%:

62. Consider the following Assertion (A) and Reason (R) and choose the correct option :
Assertion (A) : _
The disciplines that make up the social science are history, geography, political science and
eConomics.
Reason (R) :
There is interrelationship between the disciplines:
(1) (A) is true but (R) is false
(2) (A) is false but (R) is true
(3) Both (A) and (R) are true and (R) explains (A)
(4) Both (A) and (R) are true but (R) does not explains (A)
faet afiaere (A) 9497 FIToT (R) 92 faem & aen vt feerea 1 s s
AT (A)
fogen ferdra =i Brfore A 1 @A € o € sfaer, s, i e aen sebme
FIT (R) :
¥ foen forgmi A sfa:da €
(1) (A)®@ & T (R) o7 €
(2) (A)7TE & 7 (R) 9 2
A3y (A) @i (R) & e (R), (A) T ATl
(@) (A) 2T (R) T FE E a9 (R), (A) T R 6 F@
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63.

64.

i

Which is the best method to teach the concept of “Insolation’ ?

(1) Demonstration (2) Survey (3) Case study 4) Bfam‘ﬂﬂl'mjng
‘S = SN T %1 Hay waﬂmﬂamt?
(1)  wewd (2)  weor (3) ¥ = 447 TRt

Which of the following is most appropriate for reducing curricular load of Socia] Scieng,
S}Fﬂabus y

(a) Mmmusmg the em;:hasls on memun.zmg facts and focus. on qompl'ehensmrh
(b) FO‘?USmg on conceptual clarity. Bl
(c) 'Sklppmg certain topics fmm Iihe textbook based on exam dlrectwes and teacher’s lack

ity with the theme, Ao e L e B
Choose the correct option : - ¢ F s s T TR FgTR-TF
()™ Only ©) archie) e e i o) 4Ot et

{3) (B.) (b) and (c) . | *@ﬂl]ﬂ{&)ﬂhﬁ[b}; e e o



66.

67.

While evaluating social science the following questions will help to understand its
objectives :

(a) What skills are emphasised in the syllabus, ?

(b) Is it derived from a standard text or cawmtnnat:on of texts ?

(c) How detailed is the outline of syllabus 2s

(d) What level of competence is demanded of ]ﬁamer on each social science skill ?
Choose the correct option : -

(1) (). (b)and (9 (2) (a), (b)and (d) féii (@ and (b)  (4) (a)and (d)
I oA % qear F 4 Frefafad v e sie gue o TS H0 ¢

(a) iEER H fir el WA e &2 00

(b) 1 TE fFE UF A ey | formn e § @ Fw eyl |7

(c) TIETHT Ft TG et foga &2

(d A 9 WS G5 & Yo e o 6y W s A STufed € 2

wE fasmeq 1 =37 Sifsu |
(1) (@ 0)FRE© 2 () b (@) @*‘; (a) 3 (b) @) (a) 3R (d)

Identify the immediate measures which ensuie_nmmen s safety and enable them to take up jobs,
support family income and in becoming self—rgﬁgut

(a) Provision of child-care centres il

(b) Reservation of seats for women in parlidfient

(c) Provision of occupational safety e

(d) Pick and drop facility for night shifts el

Choose the correct option :

(1)  (a), (b) and (d) ) (@) (b). (c) and (d)

(3)  (a), (b) and (c) (4) (@), (c) and (d)

3 TeehIfereh STl 1 GEA hIfSTe S Hiectsl F quan qon 3% A e, witet o § Aen s
S st a3 g e E i

(a) arerEITEAl &l WEHH E:;:} ’

(b) e # s % fory e w5 s LOY

ey STy T 1 WENE o0

) T F el (Rwe) % fem o @raﬁﬂﬂfgﬂ

W fashey &1 977 o0 | =

(1) (a), (b) 3T (d) Aoy tiﬁ:uﬂ), (c) 31T (d)
() (@), (b) 3T (c) (4) (), (o) 3 (d)
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68. For teaching which of the following topics, a tree chart would be best suited ?
(1) To teach modern history
(2) Distribution of demographic variables such as age, gender, race etc

(3) To give summary of reign of a ruler

(4) Toillustrate the hierarchy of historical evefits in a particular era, such as wars, revolutions op
social movements '

ﬁﬁfﬁhﬂﬁﬁ%ﬂﬁmﬂaﬁw%mﬁaﬁﬁwm?
(1) i sfier vem & fow (99
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0. Itis possible that lthere might be students belonging to marginalised sections in your class. 5o,
when you are talking about the notion of marginalisation, which of the following things should
you keep in mind before introducing the topic ?

(a) Taking names of particular communities might cause discomfort to those belonging to those

communities.

(b) Such issues need to be handled with sensitivitv.

() Some students might feel shame in talking about their experiences of discrimination.

(d) Students should be forced to share their experiences.

Choose the most appropriate option :

(1) (a) (band() (2) (a), (B)and(d) (3) (a)and (b) (4) (a) and ()
ﬁmﬁﬁ%ﬁmﬁwﬁﬁﬁwﬁ;m oft 2, Tafer s 39 ST W el § ard 7 18 @
W F3 G 3 T A9 et § § ot a1 o v e 2

(2) T HHE F1 TH T W I TR § A A S T W aH §

(b) 9 O % Wl I WAV | HTeE e

(c) T DA AT WY TU HSHE 1 Gren w4 § viifer Hegm W 9w £

(d) foenfeidi @ sere emvs erve e soe =it

Hel IUgE fashed =7
B @O™EQ @ @OTEd @) @b @) @

Consider the following assessment questions (A) and (B) related to the working of the state
government.

(A) : What is the purpose of a press conference ? How is it different from a Legislative Assembly
debate ?
(B) : What is the term used to refer to elected representatives who are not members of the ruling
party and who play the role of questioning govt. decisions ?
Choose the correct option :
(1) Both (A) and (B) test conceptual knowledge,
(2) Both (A) and (B) test factual knowledge.
(3) (A) tests conceptual knowledge whereas (B) tests factual knowledge.
(4) (A) tests factual knowledge whereas (B) tests conceptual knowledge.
T4 WIS 1 FHEGoe § Harvn HEffEa s webi (A) 7o (B) 9 fH=m 1)
(A) : SrgEqi o1 0 Sevd Bl € 2 I fAEEEe 7 € Al g5 § frn we s &2
(B) : 57 frraifem wfafafert 3 fore o a2 =1 91 < @ S e e & e 79 80 qen s & e
9T T 32 & 7
Wt oy o1 = o |
(1) 25 (A) 791 (B) HebeaeH T i S F F |
3y 3 (A) 7o (B) e T A S A
(3)  (A) GFETER 1 1 S H € Al (B) TRATE T4 ]
(4)  (A) qeTHeE TF FT Wi A © TAE (B) HFETHER T 3
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72. Why do elections take place after a fixed time interval in democracy ?
(a) To ensure accountability of the government
(b) To ensure equal political participation by the parties
(c) To encourage political debate and public dialogue
(d) Itis a customary practice
Choose the correct options :
(1) (a), (b) and (d) ) (a), (b), (c) and (d)
() (@ () and © @ () (and (@
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Which of the following is true about sources ?

(a) They are more concrete in nature

(b) They are all historical in nature

(c) They are objective

(d) They include accounts of eye witness and persﬂnﬂ letters

Choose the correct option :
M @Eade @ @@add @ @add @
T § & %9 w1 Hied  an f w7

® FPmIeEEE@E

®) ﬂwmm#m& - gl e

(a) and (b)




1 76. In Indian secularism, the state maintains a “Principled distance” with respect to religion. This
| means that :

’ (a) State could interfere in religious matters on the basis of ideals laid out
(b) State and religion can interfere in each other’s matters.

(c) State and religion cannot transgress each other’s boundaries. -

(d) State can regulate religious affairs when need arises..

| Choose the correct option : . ' Tt
) @ad@ @ Qand@ () @and (b} (@) (b)and (d)
e s 6, 7, wﬁ%mﬁw"ﬁxﬁmqﬁ”mmilmw%

i () Fﬁﬂﬁﬁﬁ@ma@%mwquﬁﬁmﬁﬁmmmh

| ‘,Cb)’ Wmﬂ#ﬂﬂigﬂ’{ﬂ;m‘ﬁﬁmmmgl % i £ iy 3
1 © W@Iﬁﬁ@ﬂmﬂﬁmqﬁﬁmm & ot

in the Constitution.
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78. Many workshops and factories located in industrial areas employ casual workers because :
(@) They can hire and fire them according to their convenience.
(b) They save on salaries and other job benefits which are paid to the permanent workers.
(c) Casual workers work long hours without demanding overtime wages.
(d) Casual workers are more hard woiﬁ’g as compared to permanent ones.
Choose the correct option : —=
(1) (@), (b) and (d) ' (2}~ (@), (b), (c) and (d)
(3) (a), (b) and () (b), () and (d)
ST &5 4 feer a7 v e e T el o) v e $, R
(a) 3 ST GeEn T i

gl
(b) & T T 1 e o S e wg A ge fe e e
(c) et =hefl for ATt il ot T d T o B o E
(d) Tl HfE = e & st FHt s R e
Wil fashey =1 = Fifww)

O @@ @)
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Assertion (A) :

Open-book exams shift the focus away fi ko a more involved engagement with the
' A il : T
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80. Fill in the blank with correct option.

An alert and vigilant public is necassarymdevelﬂf’mg a 3”"“5 Ty

(1)  Oligarchy | @b Autocracy
(3 Monarchy % Democracy
ﬁﬁwﬁﬁwﬁﬁmﬁﬁi B 1,—;.
T 73 &
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g2, The statement, “The Indian Constitution pI’DVldES safeguards to religious and linguistic minorities
as part of Fundamental Rights” infers that

(a) it protects minorities against posslble cultural domination by the majority.
(b) it protects minorities from any discrimination by the majority.
(c) it safeguards minority interests,

(d) it guarantees economic opportunities to minorities.
Choose the correct option :

(1) (a) (b) and (d) (2) (a). (b), (c) and (d)

(3) (a), (b) and (c) (4) (b), (c) and (d)
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84. At which stage of school education as per NCF 2005, are social science topics independently
introduced to students in textbooks ?
Choose the correct option of the following,.

(1) Secondary Stage (2) Higher Secondary Stage
(3) Primary Stage (4) Upper Primary Stage
qw.:ﬁ‘.tztﬁ.mus%m,wmﬁmmmmmﬁﬁﬁﬁﬂﬁﬁmﬁmmﬁﬁ
Terenfefai @ ufta S s & 2
ﬁﬁlﬁﬁnﬁﬂwﬁﬁmmwaﬁﬁm e
1) e (2) e Al T
(3) WHRHE W e e Waﬁrmqﬁﬁ;m
o s Pk

85. Following are some questions/comments that you have received from your students in a class.
Which question reflects the student s abl.ht}r to cntlca]ly laak at the issue of poverty and

1m'i-1:1ui'1]1tjr ?
(1) When will India become developed and get rid of poverty ?
(2) Why does government give free the poor ? Won't it make them lazy ?
(3) Why is it that luxury cars and both be seen at traffic signals ?
(4) Why can't pmr people work 1 e their lives ? '

i w/f e G it €| S A - WA T & i
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87. The Indian judiciary upholds the rule of law, without any fear or external influence, and maintains
effective control over the actions of the government because of :

(1) Judicial activism

(2) Democratic values enshrined in Indian Constitution
(3) Supremacy of judiciary in India

(4) Independence of judiciary in India

WIS =Araifere famr ft Y3 Y] SR TS % B 1 A T FHE § 99T TEE F FE W
H“ﬁﬁmwm%ﬁﬂﬁﬁm%
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88. Assertion (A) :
Teaching of social studies is important at the clementary stage.
Reason (R) : 15
It sensitises the child to social issues and devélﬁps in him/her a respect for difference and diversity.
Choose the correct option from the following : fid
(1) (A) is true but (R) is false
(2) (A) is false but (R) is true
—3] Both () and (R) are true and (R) explains (A)
(4) Both (A) and (R) are true but (R) does not explain (A)
AfaFmeT (A) :
AR T T IS fEm e weveo #)
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89.  What is the advantage of field work as a method of social science ?
(1)  Helps to memorize facts
(2) Helps in testing knowledge of the students
(3) Provides students first hand knowledge
(4) Develops skills of presenting, proposing and arguing
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PART - IV

LANGUAGE -1 : ENGLISH

PORTANT : Candidates shoulq attempl%q_:ﬁ;ésttans from Part-
for ENGLISH as LANGUAGE- only.

IV (Q. No. 91-120), if they have opted

Read the given passage and answer the qéeﬁfnns that follow. (91-99) i -

1. We were walking across the garden WHEH my daughter spotted a cluster of familiar red flowers.

She pulled me to one side and then, looking excitedly at me as though she had a secret to share, she

pulled me down to her height and whispered in my ears. I shot up straight almost as soon as she
had finished her sentence. With my motith ajar, T was about to tell her that it was probably not a
good idea to do so when I was transported to the time when I was around her age.

2. Ithad been a rather long day from school and I was dead tired. was walking along the pathway
that was lined with many ixora plants when my friend grabbed me by the arm. Before I could do
anything, he gleefully plucked a single flower from the cluster and showed it to me. Unimpressed
I was not about to be swayed by a puny flower and was about to admonish him when he turned
the flower upside down to show me a tiny almost invisible thread-like thing that protruded out
from its stalk. o

3. He pulled the faint yellowish thread ard'right at the end of it, a tiny drop of nectar appeared. At
least, that was what I think it was, as iC'was really quite sweet. That day we raided the ixora
plants. We really had a lot of fun, T codld still taste the sweetness tll today. My daughter’s urgent

tug brought me back to reality. I turned-to ny daughter and decided that she too needed to know
the joy of tasting sweet nectar from beé’%ﬁzlmms.
=4 h

91. Identify the parts of speech of the undetlined words.
I was transported to the time when I .around her age.

(1) noun, preposition (2)  noun, adverb
(3) noun, verb (4)  adjective, preposition

92, From the given anecduté; oné can assunﬁ that the.Z charaéters shared the relationship of ;
(1)  school-mates (2) grandmother and grand-child
(3) best friends (4)  mother and daughter

w BN ; / J

93. ‘I was about to admonish him ....". Cy
The underlined word can be replaced yg,.EFle word -
{1_.); refuse (2) cajole f_i:) (3) appreciate (4) reprimand

“to be transported in time’ means L. )
m - recollect memories of the past <(2)' to take future decisions

(3) travel backwards =(4): toindulge in time travel
- dead tired” does not mear -
e complEtElY exhausted (2)  to feel refreshed

feel too tired to walk ~ (4) to be exhausted

UM



96. Complete the word analogy :
cluster : bunch : : puny : _2
(1)  prickly (2) long-stalked (~3) delicate (4) colourful

97. In para 1, according to the mother it was no'ﬁlgood idea to :
(1) walk in the garden the whole day lon
(2) walk along the pathway alone
(3) taste sweet nectar from flowers 0

(4) raid the ixora plants : £
98. Read the fﬂllowing sentences : %

Assertion (A) :
The child was excited to share a secret with her mother.
Reason (R) : '

* The mother was in disbelief and went down memory lane.

. (1) Beth (A} and (R) are true, but (R) is not the correct explanation of (A)
(2) Bcth (A) and (R) are true and (R) is the correct explanation of (A)
(3} (A} is correct, but (R) is incorrect

(4) Both (A) and (R) are correct

ﬂ;?egaﬂewmgmtences.. 4439
@%mter:su'amusad!ﬁy

ories of the school days.
 sweet pleasures of nature.

@) jealousy
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101. The phrase, ‘the sun has left the sky” indicates that -
(1) it is afternoon (2) itis evening time

(3) itis morning "~ (4) itis forenoon
102. Identify the thyme scheme in lines 5 - g,
(1) abab (2) aaba (3) abba (4) aabb

103. Why does the poet consider himself to be fortunate ?
(1) ~ He has light at night by his door.
(2) Hemﬂtrungmddoeanthavetomkeachmcem]lh
(3)  He has a rich banker father. Ich
(4) He doesn’t have to light other peoples’ dmrs i
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108. Procedural knowledge in the teaching-learning grammar is
(1)  knowing the rules of the grammatical item.
(2) knowing the language and its culture.
(3) knowing how to do the grammatical item.
(4) knowledge about the grammatical item.

109. A learner reads through the news item in the newspaper to know specific information. This
reading is known as

(1) Scanning (2) Study skill (3) Critical reading (4) Skimming

110. A language teacher tells a story in English and asks learners to work in group to tell the story in the
languages known to them and then in the common language of the classroom. What is this
pedagogical strategy known as ?

(ﬂ-) Mulblang'uage teachmg & (2} |.ar|g|::|age acqujsiﬁm _

(3) Translanguaging (8)ig Muliingual policy

€ is a Class VI learner who moves frmthg IaIander m.Pm'qab tn Madurai in Tamil Nadu as

Iiéf?ﬂ&ter*has been transferred. She kn Purqab,l as her mother tongue and English language

: her second language in schi e is abIe to speak and read Tamil learning from her
: wing statements is true anthelanguagesshe now

- d Pn.n]abi and Tam:.l come under language

o gremoiy st ke

thewhole story. Laterﬂmy cnmpare their ﬁnhng
s activity knownas?




114.

115.

116.

117.

A tEaFIIEI at the secondary stage gives a text/short story and asks them to read and discuss the
meaning and ideas of the text from the point of view of power and justice. What does the teacher
attempt to develop in the learners ?

(1) Crftical language development  (2) Higher order language skills
(3) Critical literacy skills (4) Critical pedagogy

A method of teaching in which a teacher and four students form a collaborative learning group
mm'd;tfferent roles. Dialo_gues occur on the content of the text passage, which creates a zone of
proximal development in which reading comprehension improves. This method is referred to as :

(1) Structural Approach (2) Model Reading
(3) Grammar Translation Method  (4) Reciprocal Teaching

Remedial teaching is for :

(1) learners and teachers to understand and modify/improve their teaching/learning strategies.
(2) learners and teachers to enhance the scores in the examination in language paper.

(3) learners who need attention on certain aspects of language learning.

(4) teachers who need to modify their teaching for certain student to learn the language.

What is “interlingual identification’ 2
(1) Learner's judgment that the knowledge ¢

second language . B | *
(2) Leamer’tmdefstaﬂdmg hat lea ferer guageBWamms different abilities.
(3) Leamer’s;ndgmentﬂ'[atfseme iy age and something in the target

s 'd-: something in the target
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114.

115.

116.

117.

118.

119,

120,
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PART -V
LANGUAGE - Il : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-V (Q. No. 121-150), if they

have opted for ENGLISH as LA&%UAGE—[I only.

Read the given passage
/L

2

and answer the questions that follow, (121-128)
The loss in earnings that farmers see due to weather events or erratic seasonality is, by
now, accepted as the most widely felt economic foipact of climate change. Farmers were the first
people to feel the impacts of climate change, swhich ultimately affects the country’s overall
agricultural output and adds to food inflation. High food prices, in turn, could result in people
slashing down consumption, which adversely impacts nutritional security.

A significant number of farming households pﬁﬂ&ce' food for their own consumption. These
households have given birth to an old saying : thoseswho eat their own food are the healthiest. In
countries like India, where malnutrition is high and food insecurity is a nagging constant, such
households have used the home pmducﬂﬂnsylﬁmtﬂregmm out of this crisis. As studies point
out, these households are also protected from market fluctuations, thus ensuring that they can
afford healthy food. Obviously, they are not impacted by food inflation either. |

But there are serious conversations tak
events would impact such households




125. Which statement is incorrect with regard to household food production ?
(1)  Women enjoyed normal body mass index
(2) Increase in number of malnourished children
(3)  Nutritional intake was better
(4)  Food consumption in such households was higher

126. By which word can the underlined word be replaced in the given sentence ?

‘These trends are more pronounced in remote areas.
(1) noticeable (2) ignored (3) disregarded (4) important

127. Identify the parts of speech of the underlined words.
A significant number of farming households produce food for their own consumption.

(1) noun, adjective (2) noun, pronoun
(3) adjective, pronoun (4) adverb, pronoun

128. Some households have remained out of the crisis of food insecurity by adopting -
(1) protection from extreme weather conditions
(2)  home production systems.

(3) high food prices BLION

(4)  climate char

story became a cinematic sensation, how
nigrant with a criminal past become good

Philip was looking for a nurse. He was
ful business man, living a life of

He was lively,
= D u_l_ iIrL'l:nEd-i




130. Read the sentences given below :
(a) ‘Untouchable is a French comedy movie.
(b) The theme revolves around 2 friends, Philip and Abdul, who have similar tastes.
(c) The movie was a huge success in France and Algeria.

(1) (b) and (c) are incorrect, (a) is correct
" (2) (a) and (b) are correct, (c) is incorrect
H (3) (a), (b) and (c) are all incorrect

f (4) (a) and (c) are correct, (b) is incorrect

[~ 131. What bound the two very different men together for years ?
(1) love fm: mumc ! (2) their immigration status
their love for adventure sports  (4) warm friendship




138.

139.

140.

141.

142,

143,

144,

Which of the following processes involved for learning to write well in a language ?

(1) Braining storming - jotting down points — writing the draft - editing - making an outline -
finalizing,

(2) Braining storming - jotting down points - making an outline - writing the draft - editing -
finalising,

(3)  Braining storming - making an outline - drafting - jotting down points - editing - finalizing,

(4) Braining storming - jotting down points - writing the draft - making an outline - editing -
finalising,

Which one of the following statements is true of language learning ?

(1) Knowledge of the native/first language supports in the learning of second language.

(2)  First language learning and second language are completely distinct.

(3) Knowledge of the native/first language interferes in the learning of second language.

(4) Knowledge of the native/first language has nothing to do in the learning of second language.

Elam is a student of class VI is able to speak four languages, Kannada, Marathi, Hindi and English.
He uses all the four languages freely when he speaks to his parents at home and in school he uses
Hindi, Kannada and English as these are the language known to his friends and teachers. What is

this practice known as ?
(1) Code-moving (2) Interlanguage
(3) Translingual ability (4) Code-meshing

This refers to the proficiency in academic language or language needed for various content areas.
(1) Communicative language proficiency

(2) ~ Cognitive Academic Language Proficiency (CALP)

(3) Inter-language proficiency

(4)  Basic Interpersonal Communication Skills (BICS)

Here is a situation where students were exposed to the opposite perspective of the subject under
consideration to allow them to further understand it. What does this process attempt to promote
among learners ?

(1) Critical Literacy (2) Literacy development
(3) Critical analysis (4)  Process based pedagogy

A teacher of class VI brought items like spoon, plate, utensils, boxes and pan to her classroom to
teach vocabulary from there writing a description of objects in kitchen, What are these objects
known as in language teaching ?

(1) Cooking items (2) Real life tasks

(3) Teaching materials (4) Realia

Learners in a class of Social Science try to capture the main ideas of the classroom lecture and
make point of the lecture. What is this skill known as ?

(1) Writingskill ~ (2) Cognitiveskill (3) Study skill (4) Listening skill

e (T 73 0
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'145. Learning Outcomes attempt to enable learner to :
(1)  attain minimum levels of learning of all skills.
(2) attain language components in measurable terms.
(3) attain the grammatical knowledge in measurable terms.
(4) attain the competencies in measurable terms.

. I 146. What is ‘Translanguaging’ ?

[ 1 ' el it o LS HL IE

1 (1) It.fs-_a pedagogical process of using more than one language as resources in a classroom.
B! J () Itis hnguage—m-e@ucaﬁgn-pgﬁcy;m how many languages are to be taught in a schogl.

E*L; i Itmmzm“gm%hnguagem another language while teaching-leaming Ianguﬂges
refers: “-“d standing how languages change over the period of time.
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138.

139,
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY : RreafaRaa el S T A 7S

1 The manner in which the different questions are to be answered has been forr wre 3 R weal & 32 few onet & 3w avid witey
explained in the Test Booklet which you should read carefully before actually Rt 3 fapar orar 8, Rk amy el @ I 24 & vrdt e A i
answering the questions. Al
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o be changed. 3

3. The candidates should ensure that the Answer Sheet is not folded. Do nat “ﬁmﬁﬁﬁﬁ %¢ 1o 59 30 T @I AP A o0 vd 39 0 o
make any stray marks on the Answer Sheel. Do not write your Roll No. i 3@3;;,@' . F G
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4. Handle the Test Booklet and Answer Sheet with care, as under no i vd e ;
circumstances (except for discrepancy in Test Booklet Code or Number ggaﬁh# g%ﬁ;? ;gam o mﬁﬁ ?ﬂﬁﬂ
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